A XK
i i
/© o o
I i
O O
———— T A @
e
o
B
i i
A | (MFP-BP) |® ®
=1 |
o le ®
© ®|
| @ @
© ;]
S R R Ko == ==
I I I
e — 3 o °
o © o
~ b I i
L ‘ ‘ P @ @
N~ | ] — I I
~ 1 | L © o
| | Y I I
© © I © °
: | L RS AU ) Ko) O
3 3 ® i Q@ | )
b 1 I o SO SO 2 N7 1\
;\@ \e

= GROSS (ke)
NET (ke) -
s PN 9 7"37%° Al1-4 4 Iaxw(&b?%&fﬁ‘z% /4= M3x8 Fe/Zn/CM &
N4 N/ 8 | 7AUk7° L=} MFP-BP4(1.0) 1| SPCC t1.0 LY 47V 2 /=10 M3x6 Fe/Zn/CM 2
[} 1) 7 | EART L+ MFP-BP4(2.0) 1l SPcCti2 LY —#7V8 /4 M3x6 Fe/Zn/CM B
6| EtR7L—b MFP-BP4(1.5) 1| SPCC t1.2 LY 4TV 8 /4= M3x6 Fe/Zn/CM 2
5| 1-+-L£E2 CSW-BLOK-CL-B 1| SPCC t1.2 ={fiyA/(—+E /4 M3x5 Fe/Zn/CM 2
4| IUNIL-L(EH) CSW-BLOK-EF-R-B 1/ SPCC t1.2 Z{fiyni—+E
3| IUNIL—L(E) CSW-BLOK-EF-L-B 1| SPCC t1.2 ={fiyns—+E
2 | IUNAIN-(B) CSW-BLOK-EC-R-B 1| SPCC t2.5 LY -7V 2 /4= 1M M3x8 Fe/Zn/CM £
1 o —&E) CSW-BLOK-EC-L-B 1| SPCC t2.5 LY —#7v2 /40 M3x8 Fe/Zn/CM 2
ES| a4 amEE 8 % | &5
K% MFP-CASE-K1-B X% B\ RE HEZE (Bt Verto0 |E%E X%
e =5 | mm ‘ 1.9 _ ‘ 2023-07-05 CSW-MFP-CASE-K1-B | NL1054

>
>

E49NAFE



